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T04|ERE |BIEBS™ || 12| 6/2] 80|Eud 80 3 80 1 454 1720 600 |wi-fi 2774
705|ERS |BETR X 9/12 10 3 9AMIE 0
706|BIS S |feTET  |EME | 12| 7/13] 30 5 30 5 30 2| 0
707 |BIRS |BEEE)IIA | 8/1| &k & & 0
708|EI2E |BETH | 1| 5/8 20 3 20 1 0
T09|BEIR S |V b & sAs | THERK 8/13| 20 2 10 05 =20 108 108
71025 |EE 0 F |&k 1| 7/22 10 3 0
T11|ERS |EmEm |3 12| 5/28 15 3 15 2 0
712 [HHBR B 8/31 5 4 1£10-160%2140 BilAl 0
71348 |BBEH | 2| 10/9 5 5 3 WEHEEY —EG 664| 3452 6615 9AMIE 10731
71448 | EEET | 2| 6/15 20 20 f&10 19 19
715948 |BEm  |XE 12| /24| |[BTHIT = &3 |1540%p 4320 611 4931
T16(4E PR |k 2|10/31|/n 5 20 1810 0
7174 |RiBT |3k 2| 5/26 10 30 30 1810 0




718 HiE  |=EE BT | SRR 10 10 4926| 5400 9AME 10326
719048 |EEET | AcHE 20 1510 994 2092 (9 A HH1E 3086
720|148 (DB FEM (XK EfRXE 0
7218 |BETm X 7247 4341 11588
72248 |BRET |2 0
T23|RiE | EBPEA | 10 0
72448 |EEEM |3 2 1093 1093
725|048 |ANERET |3 2 AT 0
72618  |REBA | 1 IR 0
727 | AKREHET | R 2 3 3
728|iE | SIBEET |3 2 1000 1000
T29|HE [deAET |HR 10 0
B2 560151| 136293 236570 3192565| 3192565




